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	页树
	=3上料系统
	11 机械手输入信号


	页列表
	=3上料系统/11 机械手输入信号

	设备树
	无结构标识符
	无结构标识符
	无设备标识符
	多线
	24G2    =3上料系统/11.4:C
	24G2    =3上料系统/11.6:C
	24G2    =3上料系统/11.7:C
	-X3：12    =3上料系统/11.1:D
	-X3：13    =3上料系统/11.3:D
	-X3：16    =3上料系统/11.1:C
	-X3：16    =3上料系统/11.3:C
	X24    =3上料系统/11.4:D
	X25    =3上料系统/11.6:D
	X26    =3上料系统/11.7:D




	=3上料系统
	KA
	-10KA1
	多线
	13/A1;14/A2    =3上料系统/11.1:C
	5;9    =3上料系统/11.1:C


	-10KA2
	多线
	13/A1;14/A2    =3上料系统/11.3:C
	5;9    =3上料系统/11.3:C


	-10KA3
	多线
	13/A1;14/A2    =3上料系统/11.4:C
	5;9    =3上料系统/11.4:C


	-10KA4
	多线
	13/A1;14/A2    =3上料系统/11.5:C
	5;9    =3上料系统/11.6:C


	-10KA5
	多线
	13/A1;14/A2    =3上料系统/11.7:C
	5;9    =3上料系统/11.7:C



	U
	-3U1
	多线
	=3上料系统/11.1:A
	=3上料系统/11.3:A
	=3上料系统/11.4:A
	=3上料系统/11.5:A
	=3上料系统/11.7:A





	设备列表
	=+:24G2
	=+:24G2
	=+:24G2
	=+:-X3：12
	=+:-X3：13
	=+:-X3：16
	=+:-X3：16
	=+:X24
	=+:X25
	=+:X26
	=3上料系统+-10KA1:13/A1;14/A2
	=3上料系统+-10KA1:5;9
	=3上料系统+-10KA2:13/A1;14/A2
	=3上料系统+-10KA2:5;9
	=3上料系统+-10KA3:13/A1;14/A2
	=3上料系统+-10KA3:5;9
	=3上料系统+-10KA4:13/A1;14/A2
	=3上料系统+-10KA4:5;9
	=3上料系统+-10KA5:13/A1;14/A2
	=3上料系统+-10KA5:5;9
	=3上料系统+-3U1
	=3上料系统+-3U1
	=3上料系统+-3U1
	=3上料系统+-3U1
	=3上料系统+-3U1


